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procedure ADD_NODE(ROOT, OFFSET_X, OFFSET_Y):
# ���������	��
����
��	
�����	�������	��	���������������	���

�����
��

# � ������
�
�� ������
begin

if ROOT.SIZE == 1 then
begin

ROOT.COLOR = BLACK
return

end
if not HAVE_CHILDS(ROOT) then
begin

ROOT.CHILDS = CREATE_CHILDS(ROOT)
end
if 0 <= OFFSET_X < (ROOT.SIZE / 2) and

0 <= OFFSET_Y < (ROOT.SIZE / 2) then
begin

ind = 0
end
else if (ROOT.SIZE / 2) <= OFFSET_X < ROOT.SIZE and

0 <= OFFSET_Y < (ROOT.SIZE / 2) then
begin

ind = 1
OFFSET_X = OFFSET_X - (ROOT.SIZE / 2)

end
else if 0 <= OFFSET_X < (ROOT.SIZE / 2) and

(ROOT.SIZE / 2) <= OFFSET_Y < ROOT.SIZE then
begin

ind = 2
OFFSET_Y = OFFSET_Y - (ROOT.SIZE / 2)

end
else if (ROOT.SIZE / 2) <= OFFSET_X < ROOT.SIZE and

(ROOT.SIZE / 2) <= OFFSET_Y < ROOT.SIZE then
begin

ind = 3
OFFSET_X = OFFSET_X - (ROOT.SIZE / 2)
OFFSET_Y = OFFSET_Y - (ROOT.SIZE / 2)

end
ADD_NODE(ROOT.CHILDS[ind], OFFSET_X, OFFSET_Y)

end
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���e��������#����"������8��!�"�������8�'����$

��#�"��)5��0���������2�'�����8���!������+������'$
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�����)������3�+���<�����������v������)5����!���

"����2� ���� ��'������������������ �"����)� "6+��

�������!��+��)�b���6��"w������������"��)5����$
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�����������!����"����2������#�+�6�2���������������
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���+�%��6!����������*��������'�������+��8�6!���

���8�&��������������+����"��������������*������#

&���2���������������������6e�������������"����

������������%������������������������������6$

'������6�������+��8�6!����
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�%������ �����)!6��� ��b����&�*� �� �6��� �

���6e��6mmm�6!�6�+�������f6�)����+�����������"�#

������2�������e�#��!���+������6!���2���'������

������+�����2������������"8�+�������#��2�'��"�

+����%�6�)����6e�#�6!���������������6�)��������$

�����6�6!�6�+������"6+������+�������)���������!

���5���c32��2��d����+�+6e�8�6�����#2���'�������
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����� �� '�����8���!�����������������2��� ���6

procedure RECALC_COLORS(NODE):
# ���������	�������
��	�����	����	�������
#  ���	����	������	����
	�����	���!	�����
�!	�����	��

���	�����
begin

if not HAVE_CHILDS(ROOT) then
begin

if not ROOT.SIZE == 1 then
begin

ROOT.COLOR = 0 # WHITE
end

end
else
begin

col = 0
foreach node in ROOT.CHILDS do
begin

col = col + RECALC_COLORS(node)
end
ROOT.COLOR = col

end
return ROOT.COLOR

end

m����+��������+������+����!�"����������!�������4444× �4444���������������������6��0�6�����#�
mm -���"��)5�8�"���������"8�+����!�+����)�"��)5���!��'�����&�����
mmm�-�����������"6+�����!����)�6!���+�����2�+���������%�����"8�+�������6'��)�����+����6!��2����6e���
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procedure GET_AGJACENT_NODE_PATHES(PATH):
# STACK() - �����������"
��	#�
����$	���������	������	����
begin

path_list = STACK()
orient = PATH.pop()
PATH.push(orient)
if orient == 0 then
begin

path_list.push(TOP_NEIBHOUR(PATH))
path_list.push(LEFT_NEIBHOUR(PATH))

end
else if orient == 1 then
begin

path_list.push(TOP_NEIBHOUR(PATH))
path_list.push(RIGHT_NEIBHOUR(PATH))

end
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else if orient == 2 then
begin

path_list.push(BOTTOM_NEIBHOUR(PATH))
path_list.push(LEFT_NEIBHOUR(PATH))

end
else # orient == 3
begin

path_list.push(BOTTOM_NEIBHOUR(PATH))
path_list.push(RIGHT_NEIBHOUR(PATH))

end
return path_list

end

procedure TOP_NEIBHOUR(PATH):
# LIST() - �����������"
��	#�
����$	���������	������	������
# MERGE() - #�
����	�
%���
�����	���	������
begin

out = LIST()
do

ind = PATH.pop()
if ind == 0 then
begin

out.insert(0, 2)
end
else if ind == 1 then
begin

out.insert(0, 3)
end
else if ind == 2 then
begin

out.insert(0, 0)
end
else # ind == 3
begin

out.insert(0, 1)
end

while ind == 0 or ind == 1
out = MERGE(PATH, out)
return out

end

m�f������6�������b�����8��"�����#�����������8���%�����!+��)2�+�"�������������������������e���������+���"����
mm�f���6������2�'����������������������6���������������/4{�!���������&����������+��%��������
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procedure LABEL_NEIBHOURS(NODE, LABEL, LABELED_LIST):
# ���������	&'()&*+),(-./01	���������	�
����"$	
���
��	�	����	+.2)	
������

# LABEL. 3���	����������	
���	�������
�	�����
�$	���������	
����������	����
�

# ���������	4)5*6'5-	����������	���"	�	����
# ���������	0)7.8)*2/6&,9'5)1	�������	��	�����	���
������	�
���
��
# ���������	,1*)765:	����������	����
�$	����	����	����
# ���������	,1*7'0;)2	����������	����
�$	����	����	
��	�����������"
�
# ���������
 ���������� NODE_CONDITION
begin

if not IS_MARKED(NODE) or NODE.label > 0 then
begin

return False
end
NODE.label = LABEL
LABELED_LIST.add(NODE)
pathes = GET_AGJACENT_NODE_PATHES(GET_PATH(NODE))
stk = Stack()
do

foreach p in pathes do
begin

nd = GET_NODE_BY_PATH(p)
if NODE_CONDITION(nd) and nd.label == 0 then
begin

stk.push(nd)
end

end
pathes = Stack()
while not IS_EMPTY(stk)
begin

nd = stk.pop()
nd.label = LABEL   
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LABELED_LIST.add(NODE)
foreach p in GET_AGJACENT_NODE_PATHES(GET_PATH(nd))

end
REMOVE_DUPLICATES(pathes)

while not IS_EMPTY(pathes)
return True

end
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